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!$xmp nodes nd(P)
!$xmp template tp(N)
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4.1.1 BlockO0O

!$xmp distribute tp(block) onto nd
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#pragma xmp nodes nd(3)

#pragma xmp template tp(0:21)

#pragma xmp distribute tp(block) onto p

le W N}
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w =ceil(22/3) =8
7R, & KeELEFhENR/—Fnd(1), nd(2), nd(3)=HTE
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4.1.2 CyclicO0O

#pragma xmp distribute tp(cyclic) onto nd

oboooobooobooboboooobooooboooon



#pragma xmp nodes nd(3)
#pragma xmp template tp(0:21)

#pragma xmp distribute tp(cyclic) onto p

"B DD B0 DD DD OO GO
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4.1.3 Block-cyclicO O
I$xmp distribute tp(cyclic( )) onto nd

block OO0 cyclicOOOOOOOOblockOOOOOOOODOOODODOODO
o00oo0o0o0boo0od eycdic000DOOO0OO0ODOOOODODOOOO

000000000 O000O00D0O00D00 000 ceyclicOOODOOO
00 000 blockODODDOOOODOOODO

#pragma xmp nodes nd(3)
#pragma xmp template tp(0:21)

#pragma xmp distribute tp(cyclic(3)) onto p
Pw |
h
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4.1.4 0DOOOO
I$xmp distribute tp(gblock( )) onto nd

000000000000 0000 D00000O0 0000 nd()000O0
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#pragma xmp nodes nd(3)



#pragma xmp template tp(0:21)
int W[3]=6,11,5

#pragma xmp distribute tp(gblock(W)) onto p

w(1) q w(2) N w(3) I
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4.2 0O0OO0OO0O0O0O0OOOO
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I$xmp align b(i) with t(i+1)
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main(){
#pragma xmp nodes p(2)
#pragma xmp template t(0:12)
#pragma xmp distribute t(block) onto p
double a[10],b[10];

#pragma xmp align a[i] with t(i)
#pragma xmp align b[i] with t(i+1)
#pragma xmp loop on t(i)
for (i=1;i<10;i++){

ali]=a[i]+1.0;

b[i-1]=al[il;

}

for(i=0;i<10;i++)
{
printf(“%If¥t%If¥n”, a[i],b[il);
}

return 0;}
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main(){

#pragma xmp nodes p(3)

#pragma xmp template tp(0:21)

int W[3]={8,8,6};

#pragma xmp distribute tp(gblock(W)) onto p
dimension a(0:21),b(0:21),c(0:21)

#pragma xmp align a[i] with tp(i)

#pragma xmp align b[i] with tp(i)

#pragma xmp shadow b(1)

#pragma xmp align c[i] with tp(i)

#pragma xmp shadow c(2:3)

return 0;}

; w ;
————————————
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shadow c{2:3) o2}
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4.3 0O0O0OO0O0OOOO

000000000000000000000000000000000
00000000000000[m]00 adl,n)00 bO0000 lmnO0O
0000000000 [mp00 00000000000 a0 0000
0 Align0000020000 blockD00OO0O0000000000000c
00000 Align000000000000000000Leop 000000
0000000000000000000

#include <stdio.h>
#include "xmp.h"

void sub(double a[2][2],double b[2][2], double c[2][2],int m,int 1,int n)
{
#pragma xmp nodes p(2)
#pragma xmp template t(0:1)
#pragma xmp distribute t(block) onto p
#pragma xmp align c[*][i] with t(i)
#pragma xmp align b[*][i] with t(i)
int i,j,k;
#pragma xmp loop on t(j)
for (j=0; j<n; j++)
for(i=0; i<m; i++)
for(k=0; k<1;k++)
cli1[3] = clil[jl+alil (k1*b[k] [5];

if (xmp_node_nun()==1)
printf ("/1\n",c[0][01);
if (xmp_node_nun()==2)
printf ("%41f\n",c[0]1[1]);
if (xmp_node_num()==1)
printf ("41£\n",c[1][01);
if (xmp_node_num()==2)
printf ("%1f\n",c[1]1[11);
}

int main(){

#pragma xmp nodes p(2)

#pragma xmp template t(0:1)

#pragma xmp distribute t(block) onto p
double a[2][2],b[2]1[2],c[2][2];
#pragma xmp align c[*]1[i] with t(i)
#pragma xmp align b[*]1[i] with t(i)

if (xmp_node_num()==1)
b[0][0]=1.0;
if (xmp_node_num()==2)
b[0]1[11=2.0;
if (xmp_node_num()==1)
b[1]1[01=3.0;
if (xmp_node_num()==2)
bl[1]1[1]1=4.0;

1 (xmp_node_nun()==1)
c[01[0]=0.0;

if (xmp_node_num()==2)
c[01[1]1=0.0;

if (xmp_node_num()==1)
c[1]1[0]=0.0;

if (xmp_node_num()==2)
c[1]1[1]=0.0;
sub(a,b,c,2,2,2);
return 0;
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int main()
{
#pragma xmp nodes p(4)

real a(100,200),b(100,200)
#pragma xmp template t1(100)
#pragma xmp distribute t1(block) onto p
#tpragma xmp align b[i][*] with t1(i)
#pragma xmp template t2(200)
#pragma xmp distribute t2(block) onto p
#pragma xmp align a[*][j] with t2(j)
return 0;

}

a(100,200)

b(100,200)
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#include <stdio.h>
#include "xmp.h"

void sub(double a[2][2],double b[2][2], double c[2][2],int m,int 1,int n)
{
#pragma xmp nodes p(2)
#pragma xmp template t(0:1)
#pragma xmp distribute t(block) onto p
#pragma xmp align al[*][i] with t(i)
#pragma xmp align b[i] [*] with t(i)
int i,j,k;
#pragma xmp loop on t(k) reduction(+:c)

for (k=0; k<n; kt+)
j<m; j++)
5 i<l; i++)

cl[il[j] = clil[j1+alil (k]*b[k][j]1;

if (xmp_node_num()==1){
printf ("%1f\n",c[0]1[0]);
%1f\n",c[0][11);
printf ("41f\n",c[11[01);
printf ("41f\n",c[1] [11);
}
}

int main(O{

#pragma xmp nodes p(2)

#pragma xmp template t(0:1)

#pragma xmp distribute t(block) onto p
double a[2][2],b[2][2],c[2][2];
#pragma xmp align al[*][i] with t(i)
#pragma xmp align b[i] [*] with t(i)

if (xmp_node_num()==1)
a[0][0]=1.0;
if (xmp_node_num()==2)
a[0][1]1=2.0;
if (xmp_node_num()==1)
a[1]1[0]1=3.0;
if (xmp_node_num()==2)
al1]1[1]=4.0;

if (xmp_node_num()==1)
b[0][0]1=1.0;
if (xmp_node_num()==1)
b[0][1]1=2.0;
if (xmp_node_num()==2)
b[1][01=3.0;
if (xmp_node_num()==2)
bl1][11=4.0;

c[11[1]=0.0;
sub(a,b,c,2,2,2);
return 0;
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